		BaseLine Item Detail	South S	State, Inc.	Kyle Conti Co	nstruction, LLC	C. J.	Hesse	J. Fletcher Crea	mer & Son, Inc.	C. Abbonizio Co	ontractors, Inc.	A. P. Consti	ruction, Inc.	IEW Constru
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price L	ine Total	Unit Price L	ine Total	Unit Price L	ine Total	Unit Price
1 104-0001	1 L.S.	Construction Layout	\$36,000.00	\$36,000.00	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$79,000.00	\$79,000.00	\$100,000.00	\$100,000.00	\$273,000.00
2 104-0002	1 L.S.	Mobilization	\$290,000.00	\$290,000.00	\$315,700.00	\$315,700.00	\$338,574.05	\$338,574.05	\$125,000.00	\$125,000.00	\$500,000.00	\$500,000.00	\$612,000.00	\$612,000.00	\$500,000.00
3 106-N0001	15,000.00 USD	Permit Fees (NO-BID)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00
4 107-0001	1 L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$7,500.00	\$7,500.00	\$21,000.00	\$21,000.00		\$18,000.00	\$20,000.00
5 108-0001	6,500.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00
6 201-0001	2 Acre	Clearing and Grubbing	\$28,000.00	\$56,000.00	\$1.00	\$2.00	\$15,000.00	\$30,000.00	\$25,000.00	\$50,000.00	\$19,000.00	\$38,000.00		\$60,000.00	\$5,000.00
7 202-0002	5,531.00 C.Y.	Roadway Excavation, Earth	\$34.00	\$188,054.00	\$60.00	\$331,860.00	\$30.00	\$165,930.00	\$48.00	\$265,488.00	\$35.00	\$193,585.00	\$12.00	\$66,372.00	\$76.00
8 202-0006	498 S.Y.	Removal of Concrete Pavement	\$17.00	\$8,466.00	\$150.00	\$74,700.00	\$65.00	\$32,370.00	\$65.00	\$32,370.00	\$42.00	\$20,916.00	\$83.00	\$41,334.00	\$57.00
9 202-0007	313 C.Y.	Stripping Topsoil	\$31.00	\$9,703.00	\$36.00	\$11,268.00	\$25.00	\$7,825.00	\$48.00	\$15,024.00	\$34.00	\$10,642.00	\$5.00	\$1,565.00	\$32.00
10 203-0001	1,056.00 C.Y.	Embankment, Common	\$23.00	\$24,288.00	\$60.00	\$63,360.00	\$20.00	\$21,120.00	\$27.00	\$28,512.00	\$34.00	\$35,904.00	-	\$17,952.00	\$48.00
11 203-0002	3,105.00 C.Y.	Embankment, Grade A	\$41.00	\$127,305.00	\$80.00	\$248,400.00	\$24.00	\$74,520.00	\$37.00	\$114,885.00	\$48.00	\$149,040.00	-	\$52,785.00	\$51.00
12 206-0004	1,400.00 L.F.	Trench Excavation, Electrical	\$15.00	\$21,000.00	\$35.00	\$49,000.00	\$10.00	\$14,000.00	\$13.00	\$18,200.00	\$18.00	\$25,200.00	\$19.00	\$26,600.00	\$17.00
13 207-0041	7 Ton	Riprap Stone Ditch Protection, 12in Thick (D50=6in)	\$110.00	\$770.00	\$100.00	\$700.00	\$500.00	\$3,500.00	\$125.00	\$875.00	\$270.00	\$1,890.00	•	\$889.00	\$667.00
14 208-0008	6,513.00 L.F.	Heavy Duty Silt Fence	\$9.00	\$58,617.00	\$5.00	\$32,565.00	\$5.00	\$32,565.00	\$3.50	\$22,795.50	\$12.00	\$78,156.00	-	\$91,182.00	\$7.30
15 208-0012	10 Each	Dewatering Basins	\$180.00	\$1,800.00	\$1.00	\$10.00	\$2,500.00	\$25,000.00	\$850.00	\$8,500.00	\$500.00	\$5,000.00	\$1,276.00	\$12,760.00	\$1,000.00
16 208-0022	27 Each	Inlet Filter, Type 2	\$310.00	\$8,370.00	\$50.00	\$1,350.00	\$200.00	\$5,400.00	\$59.00	\$1,593.00 \$14,553.00	\$300.00 \$55.00	\$8,100.00 \$16,335.00	\$204.00 \$96.00	\$5,508.00	\$456.00 \$57.00
17 208-0024	297.00 Ton	Construction Driveway Demolition Of Existing Structures No. 1	\$69.00	\$20,493.00	\$10.00	\$2,970.00 \$95,000.00	\$50.00	\$14,850.00 \$50,000.00	\$49.00 \$108,650.00	\$14,553.00	\$55.00	\$71,500.00	-	\$28,512.00 \$30,000.00	•
18 210-0002 19 210-0003	1.00 L.S. 1 L.S.	Demolition of Existing Structures No. 1 Demolition Of Existing Structures No. 2	\$34,000.00 \$3,900.00	\$34,000.00 \$3,900.00	\$95,000.00 \$3,000.00	\$3,000.00	\$50,000.00 \$15,000.00	\$15,000.00	\$108,030.00	\$108,030.00	\$4,800.00	\$4,800.00		\$30,000.00	\$13,000.00
20 210-0004	1.00 L.S.	Demolition of Existing Structures No. 2 Demolition of Existing Structures No. 3	\$21,000.00	\$3,900.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$5,780.00	\$5,780.00		\$30,000.00	\$35,000.00
21 211-0001	2,676.00 L.F.	Temporary Orange Plastic Fence	\$3.00	\$8,028.00	\$5,000.00	\$13,380.00	\$13,000.00	\$18,732.00	\$15,000.00	\$12,042.00	\$3,780.00	\$10,704.00		\$10,704.00	\$4.00
22 2000-N006	6.500.00 USD	Lead and Asbestos Survey, Report and Monitoring (NO-BID)	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00		\$6,500.00	\$1.00
23 2000-N007	10,000.00 USD	Removal of Asbestos (NO-BID)	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	-	\$10,000.00	\$1.00
24 2000-N008	5,000.00 USD	Removal of Lead-Based Materials (NO-BID)	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00
25 2000-N009	1 L.S.	Building Electric Work - Location No. 1	\$184,000.00	\$184,000.00	\$1.00	\$1.00	\$120,000.00	\$120,000.00	\$133,000.00	\$133,000.00	\$115,000.00	\$115,000.00	•	\$235,000.00	
26 2000-N015	1 L.S.	Building Mechanical Work - Location No. 1	\$15,000.00	\$15,000.00	\$1.00	\$1.00	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	\$109,000.00	\$109,000.00		\$101,500.00	\$89,000.00
27 2000-N025	1 L.S.	Building Architectural Work - Location No. 1	\$200,000.00		\$135,000.00	\$135,000.00	\$130,000.00	\$130,000.00	\$129,000.00	\$129,000.00	\$97,500.00		\$148,500.00	\$148,500.00	\$138,000.00
28 2000-N027	1 L.S.	Building Fire Protection Work - Location No. 1	\$7,500.00	\$7,500.00	\$1.00	\$1.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$109,000.00	\$109,000.00	\$12,800.00	\$12,800.00	\$17,000.00
29 2000-N031	5,000.00 USD	Universal Waste Removal (No-Bid)	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00
30 301-N0002	12,314.00 S.Y.	Aggregate Base Course, 8 in Thick	\$14.00	\$172,396.00	\$8.00	\$98,512.00	\$12.50	\$153,925.00	\$12.00	\$147,768.00	\$15.00	\$184,710.00	\$20.00	\$246,280.00	\$17.00
31 302-0002	5,394.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$85.00	\$458,490.00	\$65.00	\$350,610.00	\$96.00	\$517,824.00	\$165.00	\$890,010.00	\$115.00	\$620,310.00	\$165.00	\$890,010.00	\$145.00
32 302-0004	4,245.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$70.00	\$297,150.00	\$50.00	\$212,250.00	\$86.00	\$365,070.00	\$133.00	\$564,585.00	\$98.00	\$416,010.00	\$134.00	\$568,830.00	\$117.00
33 302-0063	13,800.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$13,800.00	\$1.00	\$13,800.00	\$1.00	\$13,800.00	\$1.00	\$13,800.00	\$1.00	\$13,800.00	\$1.00	\$13,800.00	\$1.00
34 302-0064	3,454.00 GAL	Tack Coat	\$3.00	\$10,362.00	\$0.01	\$34.54	\$3.50	\$12,089.00	\$0.02	\$69.08	\$6.00	\$20,724.00	-	\$3,454.00	\$0.01
35 302-0065	4,344.00 L.F.	Cleaning Inside Shoulders	\$0.30	\$1,303.20	\$0.01	\$43.44	\$1.25		\$5.00	\$21,720.00	\$0.50	\$2,172.00	-	\$52,128.00	\$3.00
36 302-0066	3,134.00 L.F.	Cleaning Outside Shoulders	\$0.50	\$1,567.00	\$0.01	\$31.34	\$1.30		\$5.00	\$15,670.00	\$0.50	\$1,567.00	-	\$37,608.00	\$3.00
37 303-0001	1,161.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$23.00	\$26,703.00	\$38.00	\$44,118.00	\$35.00	\$40,635.00	\$34.00	\$39,474.00	\$33.00	\$38,313.00	\$40.00	\$46,440.00	\$34.00
38 303-N0002	659.00 S.Y.	Berm Surfacing, Crushed Stone, 6 in Thick	\$35.00	\$23,065.00	\$25.00	\$16,475.00		\$29,655.00	\$27.50	\$18,122.50	\$33.00	\$21,747.00	\$47.00	\$30,973.00	\$42.00
39 304-0023	12.00 S.Y.	Toll Plaza Slab	\$550.00	\$6,600.00	\$400.00	\$4,800.00	\$2,400.00	\$28,800.00	\$100.00	\$1,200.00	\$615.00	\$7,380.00		\$18,360.00	\$225.00
40 305-0006	25,496.00 S.Y.	Pavement Removal, 2in Depth	\$3.50	\$89,236.00	\$1.00	\$25,496.00	\$4.00		\$10.00	\$254,960.00	\$5.50	\$140,228.00	\$10.00	\$254,960.00	\$9.00
41 305-N0001	3,087.00 L.F.	Remove Existing Rumble Strip	\$11.00	\$33,957.00	\$0.01	\$30.87	\$9.00		\$9.50	\$29,326.50	\$11.50	\$35,500.50		\$37,044.00	\$11.00
42 306-0001	8,314.00 L.F.	Milled Rumble Strip	\$1.50	\$12,471.00	\$0.40	\$3,325.60	-		\$6.00	\$49,884.00	\$2.00	\$16,628.00		\$16,628.00	\$0.50 \$1.50
43 401-0067 44 406-0004	55,359.00 LB 1 L.S.	Reinforcement Steel, Epoxy Coated Overhead Span Sign Support Structure No. 1	\$1.50 \$205,000.00	\$83,038.50 \$205,000.00	\$2.00 \$295,000.00	\$110,718.00	\$2.50		\$2.50 \$185,600.00	\$138,397.50 \$185,600.00	\$3.50 \$184,000.00	\$193,756.50	\$3.00	\$166,077.00	\$1.50
45 406-0005	1 L.S.	Overhead Span Sign Support Structure No. 2	\$205,000.00	\$205,000.00			\$200,000.00		\$187,600.00		\$184,000.00		\$219,000.00		\$188,000.00
46 406-0006	1 L.S.	Overhead Span Sign Support Structure No. 3	\$205,000.00	\$205,000.00	\$295,000.00	\$295,000.00			\$187,600.00		\$186,000.00		\$218,000.00	\$213,000.00	
47 406-0007	1 L.S.	Overhead Span Sign Support Structure No. 4	\$205,000.00	\$205,000.00		\$295,000.00					\$192,000.00		\$225,000.00	\$225,000.00	
48 406-0008	77 C.Y.	Concrete in Structures, Pedestals	\$600.00	\$46,200.00	\$1,600.00	\$123,200.00			\$2,200.00	\$169,400.00	\$2,650.00	\$204,050.00		\$269,500.00	\$2,900.00
49 429-0001	144 L.F.	48In Diameter Drilled Shaft	\$1,100.00	\$158,400.00	\$1,200.00	\$172,800.00			\$850.00	\$122,400.00	\$900.00	\$129,600.00		\$187,200.00	\$1,040.00
50 429-0006	232 L.F.	48 in Drilled Shaft for Sign Structures	\$950.00	\$220,400.00	\$1,200.00	\$278,400.00	\$900.00		\$1,250.00	\$290,000.00	\$1,050.00	\$243,600.00		\$284,200.00	\$925.00
51 499-N0018	1 L.S.	Space Frame Canopy	\$110,952.77	\$110,952.77		\$350,000.00		\$360,000.00		\$349,500.00	\$415,000.00		\$657,000.00	\$657,000.00	•
52 499-N0019	1 L.S.	Steel Post Support System	\$44,000.00	\$44,000.00	\$50,000.00	\$50,000.00				\$58,000.00	\$78,000.00	\$78,000.00		\$91,000.00	\$80,000.00
53 436-N0020	1.00 L.S.	Express E-ZPass Mounting Bracket Assembly	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00				\$19,000.00	\$28,000.00	\$28,000.00		\$30,000.00	\$70,000.00
54 501-0001	2,010.00 L.F.	8-Inch Pipe Underdrain	\$28.00	\$56,280.00	\$30.00	\$60,300.00	\$50.00		\$41.00	\$82,410.00	\$27.00	\$54,270.00		\$28,140.00	\$32.00
55 502-0005	236 L.F.	15 in Reinforced Concrete Pipe, Class III	\$85.00	\$20,060.00	\$85.00	\$20,060.00		\$20,060.00	\$92.00	\$21,712.00	\$115.00	\$27,140.00	-	\$10,384.00	\$47.00
56 502-0006	457 L.F.	18 in Reinforced Concrete Pipe, Class III	\$99.00	\$45,243.00	\$90.00	\$41,130.00		\$38,845.00	\$77.00	\$35,189.00	\$140.00	\$63,980.00		\$22,850.00	\$52.00
57 502-0251	1,186.00 L.F.	Cleaning Existing Storm Drains	\$6.50	\$7,709.00	\$1.00	\$1,186.00	\$13.00	\$15,418.00	\$10.00	\$11,860.00	\$31.00	\$36,766.00		\$66,416.00	\$8.00
58 503-0003	11 Each	Inlet, Type D2	\$7,700.00	\$84,700.00	\$4,500.00	\$49,500.00	\$5,000.00	\$55,000.00	\$4,000.00	\$44,000.00	\$4,680.00	\$51,480.00	\$4,200.00	\$46,200.00	\$10,000.00
59 503-0004	1.00 Each	Inlet, Type D4	\$5,800.00	\$5,800.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	\$4,700.00	\$4,700.00	\$6,450.00	\$6,450.00	\$3,700.00	\$3,700.00	\$10,000.00

		BaseLine Item Detail	South State, Inc.		Kyle Conti Construction, LLC		C. J. Hesse		J. Fletcher Creamer & Son, Inc.		Inc. C. Abbonizio Contractors, Inc.		A. P. Construction, Inc.		IEW Constru
60 503-0005	1 Each	Reconstructed Inlet, Type D2, Using Existing Grate and Frame	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$2,950.00	\$2,950.00	\$3,110.00	\$3,110.00	\$2,500.00	\$2,500.00	\$5,000.00
61 503-0010	3 Each	Inlet, Type DS	\$9,000.00	\$27,000.00	\$5,000.00	\$15,000.00	\$6,800.00	\$20,400.00	\$4,900.00	\$14,700.00	\$6,600.00	\$19,800.00	\$5,000.00	\$15,000.00	\$10,000.00
62 503-0111	2 Each	Inlet Converted to Manhole	\$1,300.00	\$2,600.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$1,280.00	\$2,560.00	\$3,480.00	\$6,960.00	\$2,500.00	\$5,000.00	\$3,200.00
63 503-0293	1 Each	Reset Frames	\$540.00	\$540.00	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$686.00	\$686.00	\$3,250.00	\$3,250.00	\$765.00	\$765.00	\$2,300.00
64 503-N0003	6 Each	Cleaning Existing Drainage Structures	\$230.00	\$1,380.00	\$1.00	\$6.00	\$450.00	\$2,700.00	\$300.00	\$1,800.00	\$400.00	\$2,400.00	\$425.00	\$2,550.00	\$335.00
65 504-0011	10 C.Y.	Incidental Concrete	\$350.00	\$3,500.00	\$125.00	\$1,250.00	\$2,000.00	\$20,000.00	\$400.00	\$4,000.00	\$570.00	\$5,700.00	\$2,300.00	\$23,000.00	\$1,000.00
66 506-0001	80 L.F.	Concrete Curb, Type A	\$51.00	\$4,080.00	\$80.00	\$6,400.00	\$110.00	\$8,800.00	\$60.00	\$4,800.00	\$68.00	\$5,440.00	\$34.00	\$2,720.00	\$55.00
67 508-0001	82 L.F.	Concrete Median Barrier, Roadway.	\$210.00	\$17,220.00	\$320.00	\$26,240.00	\$350.00	\$28,700.00	\$250.00	\$20,500.00	\$226.00	\$18,532.00	\$265.00	\$21,730.00	\$231.00
68 508-0003	1,121.00 L.F.	Concrete Median Barrier, Protection	\$180.00	\$201,780.00	\$175.00	\$196,175.00	\$265.00	\$297,065.00	\$220.00	\$246,620.00	\$195.00	\$218,595.00	\$230.00	\$257,830.00	\$200.00
69 509-0001	2,224.00 S.F.	Sign Panels	\$33.00	\$73,392.00	\$45.00	\$100,080.00	\$22.00	\$48,928.00	\$29.00	\$64,496.00	\$30.00	\$66,720.00	\$25.00	\$55,600.00	\$31.00
70 509-0003	2 Each	Removal of Existing Ground-Mounted Sign	\$520.00	\$1,040.00	\$3,000.00	\$6,000.00	\$550.00	\$1,100.00	\$1,300.00	\$2,600.00	\$2,600.00	\$5,200.00	\$13.00	\$26.00	\$1,700.00
71 509-0004	12 Each	Remove Signs	\$210.00	\$2,520.00	\$125.00	\$1,500.00	\$385.00	\$4,620.00	\$1,300.00	\$15,600.00	\$1,650.00	\$19,800.00	\$128.00	\$1,536.00	\$1,700.00
72 509-0008	147 L.F.	Timber Posts	\$26.00	\$3,822.00	\$7.00	\$1,029.00	\$8.00	\$1,176.00	\$84.00	\$12,348.00	\$98.00	\$14,406.00	\$128.00	\$18,816.00	\$100.00
73 510-0001	3,529.00 L.F.	Beam Guide Rail	\$23.00	\$81,167.00	\$25.00	\$88,225.00	\$30.00	\$105,870.00	\$24.00	\$84,696.00	\$30.00	\$105,870.00	\$34.00	\$119,986.00	\$30.0
74 510-0002	63 L.F.	Beam Guide Rail, Dual-Faced	\$67.00	\$4,221.00	\$35.00	\$2,205.00	\$45.00	\$2,835.00	\$34.00	\$2,142.00	\$46.00	\$2,898.00	\$54.00	\$3,402.00	\$48.00
75 510-0011	7 Each	Beam Guide Rail Anchorage	\$980.00	\$6,860.00	\$1,500.00	\$10,500.00	\$1,200.00	\$8,400.00	\$750.00	\$5,250.00	\$1,118.00	\$7,826.00	\$1,300.00	\$9,100.00	\$1,100.00
76 510-0014	3 Each	Parapet Connection, Type A	\$2,400.00	\$7,200.00	\$2,000.00	\$6,000.00	\$3,500.00	\$10,500.00	\$2,500.00	\$7,500.00	\$3,380.00	\$10,140.00	\$4,000.00	\$12,000.00	\$3,400.0
77 510-0015	2 Each	Parapet Connection, Type B	\$460.00	\$920.00	\$2,000.00	\$4,000.00	\$800.00	\$1,600.00	\$550.00	\$1,100.00	\$790.00	\$1,580.00	\$925.00	\$1,850.00	\$800.00
78 510-0017	3 Each	Flared Guide Rail Terminal	\$2,700.00	\$8,100.00	\$3,000.00	\$9,000.00	\$3,200.00	\$9,600.00	\$2,500.00	\$7,500.00	\$3,200.00	\$9,600.00	\$3,700.00	\$11,100.00	\$3,200.0
79 510-0018	1 Each	Tangent Guide Rail Terminal	\$3,100.00	\$3,100.00	\$3,000.00	\$3,000.00	\$3,600.00	\$3,600.00	\$2,700.00	\$2,700.00	\$3,600.00	\$3,600.00	\$4,200.00	\$4,200.00	\$3,700.0
80 514-0001	57 S.Y.	Concrete Sidewalk, 4in Thick	\$82.00	\$4,674.00	\$70.00	\$3,990.00	\$165.00	\$9,405.00	\$100.00	\$5,700.00	\$87.00	\$4,959.00	\$101.00	\$5,757.00	\$89.0
81 514-0031	351 S.Y.	Concrete Island, 4in Thick	\$81.00	\$28,431.00	\$50.00	\$17,550.00	\$94.00	\$32,994.00	\$100.00	\$35,100.00	\$87.00	\$30,537.00	\$100.00	\$35,100.00	\$89.0
82 515-0001	15 Each	Delineator, Type CA-R	\$52.00	\$780.00	\$65.00	\$975.00	\$82.00	\$1,230.00	\$60.00	\$900.00	\$81.00	\$1,215.00	\$96.00	\$1,440.00	\$66.00
83 515-0002	17 Each	Delineator, Type CA-Y	\$52.00	\$884.00	\$65.00	\$1,105.00	\$82.00	\$1,394.00	\$60.00	\$1,020.00	\$75.00	\$1,275.00	\$96.00	\$1,632.00	\$66.00
84 516-0002	500 L.F.	Diamond Grinding	\$3.50	\$1,750.00	\$3.60	\$1,800.00	\$5.50	\$2,750.00	\$4.50	\$2,250.00	\$6.50	\$3,250.00	\$6.00	\$3,000.00	\$4.00
85 516-0005	5,034.00 L.F.	Striping and Marking Removal, Hydromilling	\$0.70	\$3,523.80	\$0.66	\$3,322.44	\$0.85	\$4,278.90	\$0.80	\$4,027.20	\$1.00	\$5,034.00	\$1.00	\$5,034.00	\$0.7
86 516-0006	23,856.00 L.F.	Striping and Marking Removal, Mechanical	\$0.70	\$16,699.20	\$0.64	\$15,267.84	\$0.65	\$15,506.40	\$0.80	\$19,084.80	\$1.00	\$23,856.00	\$1.00	\$23,856.00	\$0.7
87 516-0009	28,079.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$0.90	\$25,271.10	\$1.00	\$28,079.00	\$1.00	\$28,079.00	\$1.05	\$29,482.95	\$1.00	\$28,079.00	\$1.00	\$28,079.00	
88 516-0013	6,933.00 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$2.00	\$13,866.00	\$2.00	\$13,866.00	\$3.30	\$22,878.90	\$2.50	\$17,332.50	\$3.00	\$20,799.00	\$1.00	\$6,933.00	
89 517-0003	1 L.S.	Furnish Field Office, Type C	\$17,000.00	\$17,000.00	\$50,000.00	\$50,000.00	\$3,500.00	\$3,500.00	\$25,000.00	\$25,000.00	\$52,200.00	\$52,200.00	\$60,000.00	\$60,000.00	-
90 517-0009	15 Mnth	• ••	\$4,000.00	\$60,000.00	\$200.00	\$3,000.00	\$2,500.00	\$37,500.00	\$2,800.00	\$42,000.00	\$1,700.00	\$25,500.00	\$200.00	\$3,000.00	\$2,000.00
91 517-0013	25,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1,700.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00
92 522-0001	10 Each	Test Pits	\$1,600.00	\$16,000.00	\$300.00	\$3,000.00	\$800.00	\$8,000.00	\$500.00	\$5,000.00	\$480.00	\$4,800.00	\$600.00	\$6,000.00	\$1,000.00
93 524-0004	1 Each	Impact Attenuator (Cartridge), 9 Bays, 36\" Wide	\$41,000.00	\$41,000.00	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	\$45,000.00	\$45,000.00	\$63,500.00	\$63,500.00	\$50,000.00	\$50,000.00	
94 530-0001	130 Each	Raised Pavement Markers	\$32.00	\$4,160.00	\$35,000.00	\$3,250.00	\$72.00	\$9,360.00	\$40.00	\$5,200.00	\$32.00	\$4,160.00	\$40.00	\$5,200.00	\$35.00
95 531-0001	5,000.00 USD	Force Account for Snow Removal (No-Bid)	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$33.00
96 599-N0016	200,000.00 USD	Force Account for ETC Equipment Work Allowances (NO-BID)	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00	\$200,000.00	\$1.00
97 601-0006	2,029.00 L.F.	2in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$12.00	\$24,348.00	\$1.00	\$20,290.00	\$5.50	\$11,159.50	\$6.50	\$13,188.50	\$6.00	\$12,174.00	\$1.00	\$30,435.00	\$5.50
98 601-0009	1,530.00 L.F.	3in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$13.00	\$19,890.00	\$10.00	\$18,360.00	\$8.30	\$11,139.30	\$9.50	\$14,535.00	\$8.00	\$12,174.00	\$15.00	\$25,245.00	\$8.4
99 601-0012	•	3in Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$52.00	\$13,832.00	\$70.00	\$18,620.00	\$66.00	\$12,099.00	\$9.50 \$76.00	\$14,333.00	\$65.00	\$12,240.00	\$63.00	\$16,758.00	\$67.0
100 601-0014	266 L.F. 5 Each	Junction Box Foundation, Type 1	\$2,500.00	\$13,832.00	\$6,000.00	\$10,020.00	\$3,800.00	\$17,530.00	\$4,435.00	\$20,210.00	\$3,800.00	\$17,290.00	\$3,125.00	\$15,625.00	
		, , , , , , , , , , , , , , , , , , ,													
101 601-0015	2 Each	Junction Box, Type C	\$2,400.00	\$4,800.00	\$6,000.00	\$12,000.00	\$3,500.00	\$7,000.00	\$4,055.00	\$8,110.00	\$3,500.00	\$7,000.00	\$3,000.00	\$6,000.00	\$3,600.00
102 601-0016	6 Each	Junction Box, Type PS	\$4,100.00	\$24,600.00	\$6,000.00	\$36,000.00	\$5,800.00	\$34,800.00	\$6,655.00	\$39,930.00	\$5,700.00	\$34,200.00	\$5,100.00	\$30,600.00	
103 601-0019	62 L.F.	#4 A.W.G. Ground Wire	\$8.00	\$496.00	\$3.50	\$217.00	\$3.90	\$241.80	\$4.40 \$2.50	\$272.80	\$4.00	\$248.00	\$10.00	\$620.00	\$4.00
104 601-0020	702 L.F.	#8 A.W.G. Ground Wire	\$2.00	\$1,404.00	\$2.00	\$1,404.00	\$2.20	\$1,544.40	\$2.50	\$1,755.00	\$2.00	\$1,404.00	\$2.50	\$1,755.00	
105 601-0021	440 L.F.	#10 A.W.G. Ground Wire	\$2.00	\$880.00	\$1.50	\$660.00	\$1.65	\$726.00	\$2.00	\$880.00	\$2.00	\$880.00	\$2.50	\$1,100.00	
106 601-0022	1 Each	Junction Box, Type D	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$1,900.00	\$1,900.00	\$2,500.00	\$2,500.00	
107 601-0026	1 Each	Concrete Base, Type I	\$1,900.00	\$1,900.00	\$5,000.00	\$5,000.00	\$2,700.00	\$2,700.00	\$3,100.00	\$3,100.00	\$2,670.00	\$2,670.00	\$2,300.00	\$2,300.00	
108 601-0030	216 L.F.	4in Rigid Nonmetallic Conduit, PVC-Schedule 40	\$21.00	\$4,536.00	\$30.00	\$6,480.00	\$33.00	\$7,128.00	\$38.00	\$8,208.00	\$33.00	\$7,128.00	\$25.50	\$5,508.00	\$33.5
109 601-0031	1,468.00 L.F.	Multi-Mode Fiber Optic Cable, 12- Fibers	\$21.00	\$30,828.00	\$10.00	\$14,680.00	\$11.00	\$16,148.00	\$12.00	\$17,616.00	\$11.00	\$16,148.00	\$25.50	\$37,434.00	
110 601-0038	2,369.00 L.F.	#10 A.W.G. Power Cable	\$2.00	\$4,738.00	\$2.50	\$5,922.50	\$2.75	\$6,514.75	\$3.00	\$7,107.00	\$3.00	\$7,107.00	\$2.00	\$4,738.00	
111 601-0039	984 L.F.	#12 A.W.G. Power Cable	\$1.50	\$1,476.00	\$5.00	\$4,920.00	\$3.30	\$3,247.20	\$3.80	\$3,739.20	\$3.00	\$2,952.00	\$2.00	\$1,968.00	\$3.4
112 601-0056	640 L.F.	#6 A.W.G. Ground Wire	\$3.00	\$1,920.00	\$5.00	\$3,200.00	\$3.30	\$2,112.00	\$3.80	\$2,432.00	\$3.00	\$1,920.00	\$6.00	\$3,840.00	
113 601-0055	2,289.00 L.F.	#2/0 A.W.G. Power Cable	\$6.00	\$13,734.00	\$3.00	\$6,867.00	\$6.60	\$15,107.40	\$7.50	\$17,167.50	\$7.00	\$16,023.00	\$10.00	\$22,890.00	\$6.7
		4-Way Duct Bank, (2)-2in, (2)-3in HDPE Conduits Directional													
114 601-0048	135 L.F.	Drilled	\$350.00	\$47,250.00	\$340.00	\$45,900.00	\$370.00	\$49,950.00	\$305.00	\$41,175.00	\$365.00	\$49,275.00	\$430.00	\$58,050.00	\$374.0
115 601-0052	200 L.F.	1 1/2in Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$52.00	\$10,400.00	\$50.00	\$10,000.00	\$55.00	\$11,000.00	\$3.00	\$600.00	\$55.00	\$11,000.00	\$64.00	\$12,800.00	\$56.0
		2 in Dinish Matallia Constait Hadronson	¢46.00	¢16 020 00	\$45.00	\$16,560.00	\$47.00	\$17,296.00	\$3.00	\$1,104.00	\$46.00	\$16,928.00	\$57.00	\$20,976.00	\$48.0
116 601-0103	368 L.F.	3in Rigid Metallic Conduit, Underground	\$46.00	\$16,928.00	\$45.00	\$10,500.00	347.00	\$17,290.00	75.00	\$1,104.00	Ş40.00	\$10,520.00	757.00	φ=0,570.00	
	368 L.F. 200 L.F.	1 1/2in Rigid Metallic Conduit, Underground 1 1/2in Rigid Metallic Conduit on Structures	\$52.00	\$10,400.00	\$52.00	\$10,400.00	\$58.00	\$11,600.00	\$65.00	\$13,000.00	\$57.00	\$11,400.00	\$63.50	\$12,700.00 \$3,520.00	\$58.00

	BaseLine Item Detail		South St	ate, Inc.	Kyle Conti Cor	nstruction, LLC	C. J.	C. J. Hesse J. Fletcher Creamer & Son, Inc. C. Ab		C. Abbonizio Contractors, Inc.		A. P. Construction, Inc.		IEW Constru	
119 601-N0004	3,840.00 L.F.	#6 A.W.G. Multiple Lighting Cable	\$2.50	\$9,600.00	\$3.50	\$13,440.00	\$3.90	\$14,976.00	\$4.00	\$15,360.00	\$4.00	\$15,360.00	\$3.20	\$12,288.00	\$3.90
120 601-N0006	2,808.00 L.F.	#2 A.W.G. Multiple Lighting Cable	\$4.50	\$12,636.00	\$5.00	\$14,040.00	\$5.50	\$15,444.00	\$6.00	\$16,848.00	\$7.00	\$19,656.00	\$5.00	\$14,040.00	\$5.60
121 601-N0029	248 L.F.	500 MCM Power Cable	\$25.00	\$6,200.00	\$20.00	\$4,960.00	\$22.00	\$5,456.00	\$25.00	\$6,200.00	\$22.00	\$5,456.00	\$30.50	\$7,564.00	\$22.00
122 603-0006	14 Each	Type LP4 Luminaire	\$2,000.00	\$28,000.00	\$3,000.00	\$42,000.00	\$2,900.00	\$40,600.00	\$3,380.00	\$47,320.00	\$2,910.00	\$40,740.00	\$2,525.00	\$35,350.00	\$3,000.00
123 603-0007	5 Each	Lighting Standard, Type L-MG-40	\$2,800.00	\$14,000.00	\$4,000.00	\$20,000.00	\$3,700.00	\$18,500.00	\$4,240.00	\$21,200.00	\$3,650.00	\$18,250.00	\$3,470.00	\$17,350.00	\$3,800.00
124 603-0013	24 Each	Type LP5 Luminaire, 168W LED	\$2,200.00	\$52,800.00	\$3,000.00	\$72,000.00	\$3,000.00	\$72,000.00	\$3,520.00	\$84,480.00	\$3,000.00	\$72,000.00	\$2,650.00	\$63,600.00	\$3,100.00
125 603-0017	1 Each	Lighting Standard, Type L-MG-40-SB	\$4,200.00	\$4,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,850.00	\$5,850.00	\$5,000.00	\$5,000.00	\$5,200.00	\$5,200.00	\$5,200.00
126 603-N0001	4 Each	Flood Lights, Type FL1	\$1,900.00	\$7,600.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$2,340.00	\$9,360.00	\$2,000.00	\$8,000.00	\$2,400.00	\$9,600.00	\$2,060.00
127 603-N0002	4 Each	Flood Lights, Type FL2	\$1,400.00	\$5,600.00	\$1,500.00	\$6,000.00	\$1,400.00	\$5,600.00	\$1,580.00	\$6,320.00	\$1,360.00	\$5,440.00	\$1,800.00	\$7,200.00	\$1,400.00
128 603-N0003	2 Each	Weatherproof Lighting Switch	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	\$830.00	\$1,660.00	\$950.00	\$1,900.00	\$810.00	\$1,620.00	\$2,000.00	\$4,000.00	\$836.00
129 604-0207	2,295.00 L.F.	Twisted Pair Communication Cable	\$3.00	\$6,885.00	\$5.00	\$11,475.00	\$5.50	\$12,622.50	\$6.00	\$13,770.00	\$6.00	\$13,770.00	\$4.00	\$9,180.00	\$5.60
130 605-0001	1 Each	Variable Message Sign Installation	\$15,000.00	\$15,000.00	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00	\$15,300.00	\$15,300.00	\$13,250.00	\$13,250.00	\$19,000.00	\$19,000.00	\$25,000.00
131 605-0004	1 Each	System Control Cabinet Installation	\$9,800.00	\$9,800.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$9,100.00	\$9,100.00	\$7,900.00	\$7,900.00	\$12,125.00	\$12,125.00	\$8,100.00
132 605-0017	1 Each	CCTV Camera, ITSS Mounted	\$10,000.00	\$10,000.00	\$800.00	\$800.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$13,000.00	\$13,000.00	\$12,500.00	\$12,500.00	\$14,000.00
133 605-0019	1 Each	CCTV Camera, Pole Mounted With Lowering Device	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00	\$17,000.00	\$17,000.00	\$19,000.00	\$19,000.00	\$17,000.00	\$17,000.00	\$13,300.00	\$13,300.00	\$18,000.00
134 605-0021	1 Each	Traffic Sensor Wireless Access Point, Pole Mounted	\$9,900.00	\$9,900.00	\$11,000.00	\$11,000.00	\$11,000.00	\$11,000.00	\$12,500.00	\$12,500.00	\$11,000.00	\$11,000.00	\$12,300.00	\$12,300.00	\$11,000.00
135 605-0023	9 Each	In-pavement Wireless Sensor	\$1,300.00	\$11,700.00	\$1,100.00	\$9,900.00	\$2,300.00	\$20,700.00	\$2,500.00	\$22,500.00	\$2,300.00	\$20,700.00	\$1,550.00	\$13,950.00	\$2,352.00
136 605-0024	1 Each	ITS Equipment Platform, Type 1	\$21,000.00	\$21,000.00	\$35,000.00	\$35,000.00	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00	\$25,500.00	\$25,500.00	\$20,000.00
137 605-N0001	1 L.S.	Removal of Existing Camera Equipment (PTZ)	\$4,600.00	\$4,600.00	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$5,740.00	\$5,740.00	\$1,730.00
138 605-N0002	1 L.S.	Removal of Existing Camera Equipment (VTDM & PTZ)	\$4,600.00	\$4,600.00	\$3,000.00	\$3,000.00	\$3,100.00	\$3,100.00	\$3,500.00	\$3,500.00	\$3,100.00	\$3,100.00	\$5,740.00	\$5,740.00	\$3,200.00
139 703-0001	1,422.00 S.Y.	Topsoil	\$8.00	\$11,376.00	\$18.00	\$25,596.00	\$5.50	\$7,821.00	\$7.50	\$10,665.00	\$5.00	\$7,110.00	\$20.00	\$28,440.00	\$7.00
140 704-0001	1,102.00 S.Y.	Seeding, Type A	\$1.00	\$1,102.00	\$1.50	\$1,653.00	\$5.50	\$6,061.00	\$1.00	\$1,102.00	\$5.00	\$5,510.00	\$1.50	\$1,653.00	\$1.40
141 704-0002	200 S.Y.	Seeding, Type B	\$2.00	\$400.00	\$2.30	\$460.00	\$5.50	\$1,100.00	\$1.00	\$200.00	\$16.00	\$3,200.00	\$2.55	\$510.00	\$2.24
142 704-0003	100 S.Y.	Seeding, Type C	\$2.00	\$200.00	\$2.30	\$230.00	\$5.50	\$550.00	\$1.00	\$100.00	\$28.00	\$2,800.00	\$2.55	\$255.00	\$2.24
143 704-0004	321 S.Y.	Seeding, Type L	\$2.00	\$642.00	\$5.00	\$1,605.00	\$5.50	\$1,765.50	\$1.00	\$321.00	\$13.00	\$4,173.00	\$6.00	\$1,926.00	\$5.00
144 704-0052	2 M.G.	Watering for Seeding or Sodding	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,600.00	\$3,200.00	\$600.00	\$1,200.00	\$44,000.00	\$88,000.00	\$319.00	\$638.00	\$279.00
145 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$450,000.00	\$450,000.00	\$185,000.00	\$185,000.00	\$300,000.00	\$300,000.00	\$215,000.00	\$215,000.00	\$142,000.00	\$142,000.00	\$200,000.00	\$200,000.00	\$796,000.00
146 801-0002	4,840.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$20.00	\$96,800.00	\$10.00	\$48,400.00	\$10.00	\$48,400.00	\$35.00	\$169,400.00	\$43.00	\$208,120.00	\$62.00	\$300,080.00	\$46.00
147 801-0003	9,140.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$5.00	\$45,700.00	\$21.00	\$191,940.00	\$24.00	\$219,360.00	\$25.00	\$228,500.00	\$16.00	\$146,240.00	\$19.00	\$173,660.00	\$30.00
148 801-0005	3,440.00 L.F.	Modular Glare Screen System	\$16.00	\$55,040.00	\$0.01	\$34.40	\$11.00	\$37,840.00	\$17.25	\$59,340.00	\$21.00	\$72,240.00	\$25.00	\$86,000.00	\$29.00
149 801-0008	200 M.H.	Flaggers	\$110.00	\$22,000.00	\$1.00	\$200.00	\$100.00	\$20,000.00	\$10.00	\$2,000.00	\$112.00	\$22,400.00	\$72.00	\$14,400.00	\$112.00
150 801-0009	1 Each	Furnishing Portable Variable Message Sign	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$12,800.00	\$12,800.00	\$18,000.00	\$18,000.00	\$1,275.00	\$1,275.00	\$26,000.00
151 801-0010	11 Each	Furnishing Temporary Impact Attenuator	\$1,000.00	\$11,000.00	\$1.00	\$11.00	\$2,300.00	\$25,300.00	\$100.00	\$1,100.00	\$1,155.00	\$12,705.00	\$2,610.00	\$28,710.00	\$4,800.00
152 801-0011	15 Each	Placing and Removing Temporary Impact Attenuator	\$500.00	\$7,500.00	\$1,100.00	\$16,500.00	\$3,300.00	\$49,500.00	\$100.00	\$1,500.00	\$7,000.00	\$105,000.00	\$8,160.00	\$122,400.00	\$8,860.00
153 801-0013	5 Each	Furnishing Truck with Mounted Attenuator	\$5,000.00	\$25,000.00	\$1.00	\$5.00	\$6,300.00	\$31,500.00	\$100.00	\$500.00	\$4,000.00	\$20,000.00	\$4,050.00	\$20,250.00	\$500.00
154 801-0014	30 M.H.	Furnishing Truck with Mounted Attenuator for Engineer\'s Use	\$180.00	\$5,400.00	\$1.00	\$30.00	\$150.00	\$4,500.00	\$100.00	\$3,000.00	\$95.00	\$2,850.00	\$80.00	\$2,400.00	\$100.00
155 801-0015	5 Each	Repair Truck Mounted Impact Attenuators	\$0.01	\$0.05	\$1.00	\$5.00	\$2,000.00	\$10,000.00	\$100.00	\$500.00	\$7,850.00	\$39,250.00	\$1,000.00	\$5,000.00	\$0.01
156 801-0017	11 Barr	Repair Temporary Impact Attenuators	\$200.00	\$2,200.00	\$1.00	\$11.00	\$500.00	\$5,500.00	\$100.00	\$1,100.00	\$630.00	\$6,930.00	\$1,000.00	\$11,000.00	\$250.00
				\$6,433,239.62		\$6,769,679.97		\$7,244,000.00		\$7,759,017.53		\$8,043,462.00		\$9,393,773.00	

New Jersey Turnpike Authority Contract No. P200.427

		BaseLine Item Detail	ction Group Inc.	Crisdel	Group, Inc.	A. E. Stor	ne, Inc.
Item No. Unit Code	Qty UOM	Description	Line Total	Unit Price	Line Total	Jnit Price L	ine Total
1 104-0001	1 L.S.	Construction Layout	\$273,000.00	\$198,101.03	\$198,101.03	\$41,398.51	\$41,398.51
2 104-0002	1 L.S.	Mobilization	\$500,000.00	\$635,030.00	\$635,030.00	\$515,000.00	\$515,000.00
3 106-N0001	15,000.00 USD	Permit Fees (NO-BID)	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
4 107-0001	1 L.S.	Progress Schedule	\$20,000.00	\$12,543.00	\$12,543.00	\$3,000.00	\$3,000.00
5 108-0001	6,500.00 USD	Fuel Price Adjustment (No-Bid)	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00
6 201-0001	2 Acre	Clearing and Grubbing	\$10,000.00	\$75,000.00	\$150,000.00	\$9,000.00	\$18,000.00
7 202-0002	5,531.00 C.Y.	Roadway Excavation, Earth	\$420,356.00	\$75.00	\$414,825.00	\$40.00	\$221,240.00
8 202-0006	498 S.Y.	Removal of Concrete Pavement	\$28,386.00	\$61.08	\$30,417.84	\$40.00	\$19,920.00
9 202-0007	313 C.Y.	Stripping Topsoil	\$10,016.00	\$29.34	\$9,183.42	\$40.00	\$12,520.00
10 203-0001	1,056.00 C.Y.	Embankment, Common	\$50,688.00	\$13.65	\$14,414.40	\$40.00	\$42,240.00
11 203-0002	3,105.00 C.Y.	Embankment, Grade A	\$158,355.00	\$72.26	\$224,367.30	\$40.00	\$124,200.00
12 206-0004	1,400.00 L.F.	Trench Excavation, Electrical	\$23,800.00	\$16.65	\$23,310.00	\$15.00	\$21,000.00
13 207-0041	7 Ton	Riprap Stone Ditch Protection, 12in Thick (D50=6in)	\$4,669.00	\$809.42	\$5,665.94	\$250.00	\$1,750.00
14 208-0008	6,513.00 L.F.	Heavy Duty Silt Fence	\$47,544.90	\$5.96	\$38,817.48	\$5.00	\$32,565.00
15 208-0012	10 Each	Dewatering Basins	\$10,000.00	\$1,437.93	\$14,379.30	\$1,500.00	\$15,000.00
16 208-0022	27 Each	Inlet Filter, Type 2	\$12,312.00	\$250.37	\$6,759.99	\$150.00	\$4,050.00
17 208-0024	297.00 Ton	Construction Driveway	\$16,929.00	\$62.82	\$18,657.54	\$40.00	\$11,880.00
18 210-0002	1.00 L.S.	Demolition Of Existing Structures No. 1	\$600,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
19 210-0003	1 L.S.	Demolition Of Existing Structures No. 2	\$13,000.00	\$30,000.00	\$30,000.00	\$85,000.00	\$85,000.00
20 210-0004	1.00 L.S.	Demolition of Existing Structures No. 3	\$35,000.00	\$60,000.00	\$60,000.00	\$85,000.00	\$85,000.00
21 211-0001	2,676.00 L.F.	Temporary Orange Plastic Fence	\$10,704.00	\$4.90	\$13,112.40	\$8.00	\$21,408.00
22 2000-N006	6,500.00 USD	Lead and Asbestos Survey, Report and Monitoring (NO-BID)	\$6,500.00	\$1.00	\$6,500.00	\$1.00	\$6,500.00
23 2000-N007	10,000.00 USD	Removal of Asbestos (NO-BID)	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
24 2000-N008	5,000.00 USD	Removal of Lead-Based Materials (NO-BID)	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
25 2000-N009	1 L.S.	Building Electric Work - Location No. 1	\$117,000.00	\$116,550.00	\$116,550.00	\$100,000.00	\$100,000.00
26 2000-N015	1 L.S.	Building Mechanical Work - Location No. 1	\$89,000.00	\$36,075.00	\$36,075.00	\$100,000.00	\$100,000.00
27 2000-N025	1 L.S.	Building Architectural Work - Location No. 1	\$138,000.00	\$171,051.02	\$171,051.02	\$350,000.00	\$350,000.00
28 2000-N027	1 L.S.	Building Fire Protection Work - Location No. 1	\$17,000.00	\$31,857.00	\$31,857.00	\$25,000.00	\$25,000.00
29 2000-N031	5,000.00 USD	Universal Waste Removal (No-Bid)	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
30 301-N0002	12,314.00 S.Y.	Aggregate Base Course, 8 in Thick	\$209,338.00	\$17.62	\$216,972.68	\$15.00	\$184,710.00
31 302-0002	5,394.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$782,130.00	\$117.25	\$632,446.50	\$130.00	\$701,220.00
32 302-0004	4,245.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$496,665.00	\$124.28	\$527,568.60	\$105.00	\$445,725.00
33 302-0063	13,800.00 USD	Asphalt Price Adjustment (No-Bid)	\$13,800.00	\$1.00	\$13,800.00	\$1.00	\$13,800.00
34 302-0064	3,454.00 GAL	Tack Coat	\$34.54	\$4.44	\$15,335.76	\$0.01	\$34.54
35 302-0065	4,344.00 L.F.	Cleaning Inside Shoulders	\$13,032.00	\$1.26	\$5,473.44	\$3.00	\$13,032.00
36 302-0066	3,134.00 L.F.	Cleaning Outside Shoulders	\$9,402.00	\$1.31	\$4,105.54	\$3.00	\$9,402.00
37 303-0001	1,161.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$39,474.00	\$33.30	\$38,661.30	\$38.00	\$44,118.00
38 303-N0002	659.00 S.Y.	Berm Surfacing, Crushed Stone, 6 in Thick	\$27,678.00	\$41.07	\$27,065.13	\$30.00	\$19,770.00
39 304-0023	12.00 S.Y.	Toll Plaza Slab	\$2,700.00	\$544.52	\$6,534.24	\$50.00	\$600.00
40 305-0006	25,496.00 S.Y.	Pavement Removal, 2in Depth	\$229,464.00	\$7.62	\$194,279.52	\$8.00	\$203,968.00
41 305-N0001	3,087.00 L.F.	Remove Existing Rumble Strip	\$33,957.00	\$21.63	\$66,771.81	\$10.00	\$30,870.00
42 306-0001	8,314.00 L.F.	Milled Rumble Strip	\$4,157.00	\$1.14	\$9,477.96	\$1.00	\$8,314.00
43 401-0067	55,359.00 LB	Reinforcement Steel, Epoxy Coated	\$83,038.50	\$3.56	\$197,078.04	\$3.00	\$166,077.00
44 406-0004	1 L.S.	Overhead Span Sign Support Structure No. 1	\$188,000.00	\$187,312.50	\$187,312.50	\$250,000.00	\$250,000.00
45 406-0005	1 L.S.	Overhead Span Sign Support Structure No. 2	\$188,000.00	\$190,087.50	\$190,087.50	\$250,000.00	\$250,000.00
46 406-0006	1 L.S.	Overhead Span Sign Support Structure No. 3	\$188,000.00	\$190,087.50	\$190,087.50	\$250,000.00	\$250,000.00
47 406-0007	1 L.S.	Overhead Span Sign Support Structure No. 4	\$196,000.00	\$195,915.00	\$195,915.00	\$275,000.00	\$275,000.00
48 406-0008	77 C.Y.	Concrete in Structures, Pedestals	\$223,300.00	\$2,913.75	\$224,358.75	\$2,250.00	\$173,250.00
49 429-0001	144 L.F.	48In Diameter Drilled Shaft	\$149,760.00	\$1,079.11	\$155,391.84	\$900.00	\$129,600.00
50 429-0006	232 L.F.	48 in Drilled Shaft for Sign Structures	\$214,600.00	\$946.91	\$219,683.12	\$1,250.00	\$290,000.00
51 499-N0018	1 L.S.	Space Frame Canopy	\$500,000.00	\$571,650.00	\$571,650.00	\$425,000.00	\$425,000.00
52 499-N0019	1 L.S.	Steel Post Support System	\$80,000.00	\$79,365.00	\$79,365.00	\$100,000.00	\$100,000.00
53 436-N0020	1.00 L.S.	Express E-ZPass Mounting Bracket Assembly	\$70,000.00	\$25,863.00	\$25,863.00	\$25,000.00	\$25,000.00
54 501-0001	2,010.00 L.F.	8-Inch Pipe Underdrain	\$64,320.00	\$51.53	\$103,575.30	\$35.00	\$70,350.00
55 502-0005	236 L.F.	15 in Reinforced Concrete Pipe, Class III	\$11,092.00	\$111.72	\$26,365.92	\$125.00	\$29,500.00
56 502-0006	457 L.F.	18 in Reinforced Concrete Pipe, Class III	\$23,764.00	\$117.56	\$53,724.92	\$125.00	\$57,125.00
	1,186.00 L.F.	Cleaning Existing Storm Drains	\$9,488.00	\$17.21	\$20,411.06	\$15.00	\$17,790.00
57 502-0251	1,160.00 L.F.	Cicuming Existing Storm Brains	1-7	•	, -,		
57 502-0251 58 503-0003	1,180.00 E.F. 11 Each 1.00 Each	Inlet, Type D2	\$110,000.00	\$4,883.58	\$53,719.38	\$7,500.00	\$82,500.00

		BaseLine Item Detail	ction Group Inc.	Crisdel G	roup, Inc.	A. E. Stor	e, Inc.
60 503-0005	1 Each	Reconstructed Inlet, Type D2, Using Existing Grate and Frame	\$5,000.00	\$1,913.38	\$1,913.38	\$5,000.00	\$5,000.00
61 503-0010	3 Each	Inlet, Type DS	\$30,000.00	\$6,018.40	\$18,055.20	\$10,000.00	\$30,000.00
62 503-0111	2 Each	Inlet Converted to Manhole	\$6,400.00	\$3,522.90	\$7,045.80	\$5,000.00	\$10,000.00
63 503-0293	1 Each	Reset Frames	\$2,300.00	\$1,913.38	\$1,913.38	\$2,500.00	\$2,500.00
64 503-N0003	6 Each	Cleaning Existing Drainage Structures	\$2,010.00	\$166.50	\$999.00	\$500.00	\$3,000.00
65 504-0011	10 C.Y.	Incidental Concrete	\$10,000.00	\$1,203.41	\$12,034.10	\$350.00	\$3,500.00
66 506-0001	80 L.F.	Concrete Curb, Type A	\$4,400.00	\$129.41	\$10,352.80	\$50.00	\$4,000.00
67 508-0001	82 L.F.	Concrete Median Barrier, Roadway.	\$18,942.00	\$538.35	\$44,144.70	\$210.00	\$17,220.00
68 508-0003	1,121.00 L.F.	Concrete Median Barrier, Protection	\$224,200.00	\$155.40	\$174,203.40	\$180.00	\$201,780.00
69 509-0001	2,224.00 S.F.	Sign Panels	\$68,944.00	\$31.08	\$69,121.92	\$32.00	\$71,168.00
70 509-0003	2 Each	Removal of Existing Ground-Mounted Sign	\$3,400.00	\$993.99	\$1,987.98	\$2,500.00	\$5,000.00
71 509-0004	12 Each	Remove Signs	\$20,400.00	\$371.92	\$4,463.04	\$1,500.00	\$18,000.00
72 509-0008	147 L.F.	Timber Posts	\$14,700.00	\$99.90	\$14,685.30	\$100.00	\$14,700.00
73 510-0001	3,529.00 L.F.	Beam Guide Rail	\$105,870.00	\$29.97	\$105,764.13	\$26.00	\$91,754.00
74 510-0002	63 L.F.	Beam Guide Rail, Dual-Faced	\$3,024.00	\$47.18	\$2,972.34	\$28.00	\$1,764.00
75 510-0011	7 Each	Beam Guide Rail Anchorage	\$7,700.00	\$1,137.75	\$7,964.25	\$800.00	\$5,600.00
76 510-0014	3 Each	Parapet Connection, Type A	\$10,200.00	\$3,441.00	\$10,323.00	\$2,650.00	\$7,950.00
77 510-0015	2 Each	Parapet Connection, Type B	\$1,600.00	\$804.75	\$1,609.50	\$600.00	\$1,200.00
78 510-0017	3 Each	Flared Guide Rail Terminal	\$9,600.00	\$3,219.00	\$9,657.00	\$2,700.00	\$8,100.00
79 510-0018	1 Each	Tangent Guide Rail Terminal	\$3,700.00	\$3,663.00	\$3,663.00	\$3,000.00	\$3,000.00
80 514-0001	57 S.Y.	Concrete Sidewalk, 4in Thick	\$5,073.00	\$111.00	\$6,327.00	\$80.00	\$4,560.00
81 514-0031	351 S.Y.	Concrete Island, 4in Thick	\$31,239.00	\$105.45	\$37,012.95	\$80.00	\$28,080.00
82 515-0001	15 Each	Delineator, Type CA-R	\$990.00	\$66.60	\$999.00	\$60.00	\$900.00
83 515-0002	17 Each	Delineator, Type CA-Y	\$1,122.00	\$66.60	\$1,132.20	\$60.00	\$1,020.00
84 516-0002	500 L.F.	Diamond Grinding	\$2,000.00	\$4.00	\$2,000.00	\$4.00	\$2,000.00
85 516-0005	5,034.00 L.F.	Striping and Marking Removal, Hydromilling	\$3,775.50	\$0.73	\$3,674.82	\$0.70	\$3,523.80
86 516-0006	23,856.00 L.F.	Striping and Marking Removal, Mechanical	\$16,699.20	\$0.71	\$16,937.76	\$0.70	\$16,699.20
87 516-0009	28,079.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$26,675.05	\$0.93	\$26,113.47	\$1.10	\$30,886.90
88 516-0013	6,933.00 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$15,529.92	\$2.22	\$15,391.26	\$2.00	\$13,866.00
89 517-0003	1 L.S.	Furnish Field Office, Type C	\$32,000.00	\$41,751.93	\$41,751.93	\$25,000.00	\$25,000.00
90 517-0009	15 Mnth	, n	\$30,000.00	\$4,396.99	\$65,954.85	\$3,000.00	\$45,000.00
91 517-0013	25,000.00 USD	Furnish Office Supplies (No-Bid)	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
92 522-0001	10 Each	Test Pits	\$10,000.00	\$829.57	\$8,295.70	\$1,000.00	\$10,000.00
93 524-0004	1 Each	Impact Attenuator (Cartridge), 9 Bays, 36\" Wide	\$64,000.00	\$63,801.02	\$63,801.02	\$75,000.00	\$75,000.00
94 530-0001	130 Each	Raised Pavement Markers	\$4,550.00	\$34.97	\$4,546.10	\$50.00	\$6,500.00
95 531-0001 96 599-N0016	5,000.00 USD 200,000.00 USD	Force Account for Snow Removal (No-Bid) Force Account for ETC Equipment Work Allowances (NO-BID)	\$5,000.00 \$200,000.00	\$1.00 \$1.00	\$5,000.00 \$200,000.00	\$1.00 \$1.00	\$5,000.00 \$200,000.00
97 601-0006	2,029.00 L.F.	2in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$11,159.50	\$1.00 \$5.55	\$11,260.95	\$1.00 \$5.00	\$10,145.00
98 601-0009	1,530.00 L.F.	3in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$12,852.00	\$8.33	\$12,744.90	\$8.00	\$10,145.00
99 601-0012	266 L.F.	3in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$17,822.00	\$66.60	\$17,715.60	\$60.00	\$15,960.00
100 601-0014	5 Each	Junction Box Foundation, Type 1	\$19,500.00	\$3,885.00	\$19,425.00	\$3,500.00	\$17,500.00
101 601-0015	2 Each	Junction Box, Type C	\$7,200.00	\$3,552.00	\$7,104.00	\$3,500.00	\$7,000.00
102 601-0016	6 Each	Junction Box, Type C Junction Box, Type PS	\$34,800.00	\$5,827.50	\$34,965.00	\$6,000.00	\$36,000.00
103 601-0019	62 L.F.	#4 A.W.G. Ground Wire	\$248.00	\$3.89	\$241.18	\$4.00	\$248.00
104 601-0020	702 L.F.	#8 A.W.G. Ground Wire	\$1,579.50	\$2.22	\$1,558.44	\$2.00	\$1,404.00
105 601-0021	440 L.F.	#10 A.W.G. Ground Wire	\$748.00	\$1.67	\$734.80	\$2.00	\$880.00
106 601-0022	1 Each	Junction Box, Type D	\$2,000.00	\$1,942.50	\$1,942.50	\$2,000.00	\$2,000.00
107 601-0026	1 Each	Concrete Base, Type I	\$2,700.00	\$2,719.50	\$2,719.50	\$2,500.00	\$2,500.00
108 601-0030	216 L.F.	4in Rigid Nonmetallic Conduit, PVC-Schedule 40	\$7,236.00	\$33.30	\$7,192.80	\$30.00	\$6,480.00
109 601-0031	1,468.00 L.F.	Multi-Mode Fiber Optic Cable, 12- Fibers	\$16,441.60	\$11.10	\$16,294.80	\$10.00	\$14,680.00
110 601-0038	2,369.00 L.F.	#10 A.W.G. Power Cable	\$6,633.20	\$2.78	\$6,585.82	\$3.00	\$7,107.00
111 601-0039	984 L.F.	#12 A.W.G. Power Cable	\$3,345.60	\$3.33	\$3,276.72	\$3.00	\$2,952.00
112 601-0056	640 L.F.	#6 A.W.G. Ground Wire	\$2,176.00	\$3.33	\$2,131.20	\$3.00	\$1,920.0
113 601-0055	2,289.00 L.F.	#2/0 A.W.G. Power Cable	\$15,336.30	\$6.66	\$15,244.74	\$6.00	\$13,734.0
		4-Way Duct Bank, (2)-2in, (2)-3in HDPE Conduits Directional					
114 601-0048	135 L.F.	Drilled	\$50,490.00	\$371.85	\$50,199.75	\$400.00	\$54,000.0
115 601-0052	200 L.F.	1 1/2in Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$11,200.00	\$55.50	\$11,100.00	\$50.00	\$10,000.0
116 601-0103	368 L.F.	3in Rigid Metallic Conduit, Underground	\$17,664.00	\$47.18	\$17,362.24	\$50.00	\$18,400.0
117 601-0133	200 L.F.	1 1/2in Rigid Metallic Conduit on Structures	\$11,600.00	\$57.72	\$11,544.00	\$50.00	\$10,000.00
118 601-N0002	1,760.00 L.F.	#10 A.W.G. Multiple Lighting Cable	\$4,928.00	\$2.78	\$4,892.80	\$3.00	\$5,280.00

New Jersey Turnpike Authority Contract No. P200.427 Letting Date: 10/18/18

		BaseLine Item Detail	ction Group Inc.	Crisdel (Group, Inc.	A. E. Sto	one, Inc.
119 601-N0004	3,840.00 L.F.	#6 A.W.G. Multiple Lighting Cable	\$14,976.00	\$3.89	\$14,937.60	\$4.00	\$15,360.00
120 601-N0006	2,808.00 L.F.	#2 A.W.G. Multiple Lighting Cable	\$15,724.80	\$5.55	\$15,584.40	\$5.00	\$14,040.00
121 601-N0029	248 L.F.	500 MCM Power Cable	\$5,456.00	\$22.20	\$5,505.60	\$20.00	\$4,960.00
122 603-0006	14 Each	Type LP4 Luminaire	\$42,000.00	\$2,963.70	\$41,491.80	\$3,000.00	\$42,000.00
123 603-0007	5 Each	Lighting Standard, Type L-MG-40	\$19,000.00	\$3,718.50	\$18,592.50	\$4,000.00	\$20,000.00
124 603-0013	24 Each	Type LP5 Luminaire, 168W LED	\$74,400.00	\$3,085.80	\$74,059.20	\$3,000.00	\$72,000.00
125 603-0017	1 Each	Lighting Standard, Type L-MG-40-SB	\$5,200.00	\$5,161.50	\$5,161.50	\$5,000.00	\$5,000.00
126 603-N0001	4 Each	Flood Lights, Type FL1	\$8,240.00	\$2,053.50	\$8,214.00	\$2,000.00	\$8,000.00
127 603-N0002	4 Each	Flood Lights, Type FL2	\$5,600.00	\$1,387.50	\$5,550.00	\$1,500.00	\$6,000.00
128 603-N0003	2 Each	Weatherproof Lighting Switch	\$1,672.00	\$832.50	\$1,665.00	\$1,000.00	\$2,000.00
129 604-0207	2,295.00 L.F.	Twisted Pair Communication Cable	\$12,852.00	\$5.55	\$12,737.25	\$5.00	\$11,475.00
130 605-0001	1 Each	Variable Message Sign Installation	\$25,000.00	\$13,486.50	\$13,486.50	\$15,000.00	\$15,000.00
131 605-0004	1 Each	System Control Cabinet Installation	\$8,100.00	\$8,047.50	\$8,047.50	\$10,000.00	\$10,000.00
132 605-0017	1 Each	CCTV Camera, ITSS Mounted	\$14,000.00	\$13,431.00	\$13,431.00	\$15,000.00	\$15,000.00
133 605-0019	1 Each	CCTV Camera, Pole Mounted With Lowering Device	\$18,000.00	\$17,205.00	\$17,205.00	\$15,000.00	\$15,000.00
134 605-0021	1 Each	Traffic Sensor Wireless Access Point, Pole Mounted	\$11,000.00	\$11,100.00	\$11,100.00	\$10,000.00	\$10,000.00
135 605-0023	9 Each	In-pavement Wireless Sensor	\$21,168.00	\$2,342.10	\$21,078.90	\$2,500.00	\$22,500.00
136 605-0024	1 Each	ITS Equipment Platform, Type 1	\$20,000.00	\$6,105.00	\$6,105.00	\$6,000.00	\$6,000.00
137 605-N0001	1 L.S.	Removal of Existing Camera Equipment (PTZ)	\$1,730.00	\$1,720.50	\$1,720.50	\$2,000.00	\$2,000.00
138 605-N0002	1 L.S.	Removal of Existing Camera Equipment (VTDM & PTZ)	\$3,200.00	\$3,163.50	\$3,163.50	\$3,000.00	\$3,000.00
139 703-0001	1,422.00 S.Y.	Topsoil	\$9,954.00	\$5.83	\$8,290.26	\$10.00	\$14,220.00
140 704-0001	1,102.00 S.Y.	Seeding, Type A	\$1,542.80	\$1.28	\$1,410.56	\$2.00	\$2,204.00
141 704-0002	200 S.Y.	Seeding, Type B	\$448.00	\$1.50	\$300.00	\$2.00	\$400.00
142 704-0003	100 S.Y.	Seeding, Type C	\$224.00	\$1.67	\$167.00	\$2.00	\$200.00
143 704-0004	321 S.Y.	Seeding, Type L	\$1,605.00	\$1.78	\$571.38	\$2.00	\$642.00
144 704-0052	2 M.G.	Watering for Seeding or Sodding	\$558.00	\$1,665.00	\$3,330.00	\$500.00	\$1,000.00
145 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$796,000.00	\$700,000.00	\$700,000.00	\$2,150,000.00	\$2,150,000.00
146 801-0002	4,840.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$222,640.00	\$43.64	\$211,217.60	\$20.00	\$96,800.00
147 801-0003	9,140.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$274,200.00	\$34.12	\$311,856.80	\$18.00	\$164,520.00
148 801-0005	3,440.00 L.F.	Modular Glare Screen System	\$99,760.00	\$1.65	\$5,676.00	\$30.00	\$103,200.00
149 801-0008	200 M.H.	Flaggers	\$22,400.00	\$119.82	\$23,964.00	\$150.00	\$30,000.00
150 801-0009	1 Each	Furnishing Portable Variable Message Sign	\$26,000.00	\$16,849.80	\$16,849.80	\$25,000.00	\$25,000.00
151 801-0010	11 Each	Furnishing Temporary Impact Attenuator	\$52,800.00	\$43,290.00	\$476,190.00	\$5,000.00	\$55,000.00
152 801-0011	15 Each	Placing and Removing Temporary Impact Attenuator	\$132,900.00	\$2,664.00	\$39,960.00	\$3,500.00	\$52,500.00
153 801-0013	5 Each	Furnishing Truck with Mounted Attenuator	\$2,500.00	\$48,911.04	\$244,555.20	\$15,000.00	\$75,000.00
154 801-0014	30 M.H.	Furnishing Truck with Mounted Attenuator for Engineer\'s Use	\$3,000.00	\$168.00	\$5,040.00	\$250.00	\$7,500.00
155 801-0015	5 Each	Repair Truck Mounted Impact Attenuators	\$0.05	\$2,969.25	\$14,846.25	\$0.01	\$0.05
156 801-0017	11 Barr	Repair Temporary Impact Attenuators	\$2,750.00	\$2,969.25	\$32,661.75	\$350.00	\$3,850.00
			\$10,085,257.96		\$10,389,361.23		\$10,655,000.00